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Fe: (i) FAAIH AT E, 99 7 & g g & I |

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) Y% T & GH} YT %) FHER U G195 E |

Solve all parts of a question consecutively together.

(iii) % 77 F1 79 78 & IREY il |

Start each question on fresh page.
(iv) g1 99137l 4 3= 517 #1 17 7 37357 31qars & 7= 8

Only English version is valid in case of difference in both the languages.

I. (i) ¥R =3k GHHATST |

| Explain the load curve.

(i) IS ATTA ! THIfId LA Tt TR e fAfaT |
Write four factérs affecting cost of generation.

(iii) = wfeR TqorTek % wTe ferf |
Write effects of low power factor.

(iv) F=agifsra Jorred @ g oy ferfa |
Write two advantages of interconnected system.

v) Wﬁmammmmmmmmmml

Write two HVDC lines working in India along with their voltage ratings. (2x5)

(1 0f4) ' P.T.O.
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fafir= sepR & W wHETsT |

Explain different types of load. | 6)
=1 el & 9 TS el Iedter <hi g A HIRT :

TR &HAT = 110 mW

T <h gefira &mTd = % 25,000/kW

T T e = 10%

U9 @94 = 0.7 kg/kWh

§%F-IFTFTH T 2400/tonne

I, weTell, WO T 3 SETe A S 3 = TS, 00 00,000
R IOT = 60%

TR wR = 80 mW

.Detemnne the generation cost per unit of energy from the following data :

Installed capacity = 110 mW

Capital cost of plant =¥ 25,000/kW

Interest and depreciation = 10%

Fuel consumption = 0.7 kg/kWh

Fuel cost = ¥ 2400/tonne -

Salaries, wages, maintenance and operating cost per annum = X 5,00,00,000

Load factor = 60% ‘

Peak load = 80 mW = 6)

i swviErai % fore B @ 2Re v A o ST @ a2
Which tariff is used for industrial consumers and why ? 6)

e TR wiferr 7o o fore serereh Tt <hifsT |

- Derive the expression for the most economical power factor. (6)

RrER § 1RTET 5o Y vafy & sfrarsier wfdd @ JTavdehar 19U it |

Discuss the requirement of reactive power during peak and off peak hours. (6)
fyfRreren Tories % Wi Sede Yo TR ST o6t ferere shife |
Discuss the effect of diversity factor on the cost of power generation. (6)

smyfies Wi Someft # Steean FrEw % e T quiA BT qe diegal FRE 6
forftrat fafRaT |

Discuss the importance of voltage control in modern power system and write
various methods of voltage control. (6)

foeh- vm&rﬁwﬁﬁﬁm%rﬁam%m@ﬁﬁaﬁﬁmﬁml

Write methods of static VAr compensator. Explain any one method in detail. (6)
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(i) i I deear T, GE % @™ 9 wiiEl e |

Write advantages and disadvantages of extra high voltage AC transmission. (6)
(ii) <TeT GaE FEOTAT ! THATTY |

Explain conductor surface gradient. . (6)
() e Red w1 & et ST e S & 7 aevs fed 1 S % w9 H

g O & - wen I § 7 ‘

What is ground return and why is it employed ? Give the problem associated

with the use of ground as return conductor. . (6)
(i) PO T BT ] 7 BRI T G g faRae |

What is corona ? Write advantages and disadvantages of corona. (6)
o 1 & fpdi & w1y feouoft forftare -
Write short notes on any two of following :
() TR GG

Heat rate and incremental rate 6)
(i) oI qURA

Synchronous condenser ‘ 6)

(i) P & e s

Corona and Radio interference » (6)
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